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Exercice 1

Cocher les bonnes réponses :
26 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
600 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U par 10
415 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
204 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
819 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 2

Cocher les bonnes réponses :
132 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
145 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
104 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
340 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
450 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 3

Cocher les bonnes réponses :
340 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
470 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10
90 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
188 est divisible : L] par 2 U] par 3 L par 5 L] par 9 U] par 10
567 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 4

Cocher les bonnes réponses :
801 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
490 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
86 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
45 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
280 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 5

Cocher les bonnes réponses :
265 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
297 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
540 est divisible : L] par 2 Ul par 3 L par 5 L] par 9 U] par 10
186 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10
192 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 6

Cocher les bonnes réponses :
152 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
99 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10
125 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10
710 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
207 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
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